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Instruction

: (3) ()

: (A)

(if)

(ii)

(iv)

ol U & SIS
Attempt all questions.

ATETHATAR (@I T8 |

Draw the diagrams / sketches wherever necessary.

¥ A 15 | 20 06 & W& § aiaﬁmfaméqﬁqm%t

In Question Nos. 15 to 20, internal options are given.

gfee aifta o, fom well § wrefas i svgan e o o §
T TIF T IR Wil / fadrmasdt & 1-1 farg fordi

Visually impaired students will write 1-1 point of speciality of

that places in the map-making questions.

O YT B eiwli Wl F I, =en W avh % R W
Fae fagar fod |

Hearing impaired students will write the long answer type
questions with points only.
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Instruction : (B) Question No. 1 is an objective type question. There are

three Sections—(A), (B) and (C) in it. Five questions are
given in each section and each question carries | mark.

(1) Fe faed IR fafee : [1%5=s5)

T
Section-(A) Choose and write the correct option :
(i) T el ¥ ST €
2R e xes (@) foe@ & A=
(@) T (3) wfemed
Father of the Human Geography is
(a) Friedrich Ratzel () Vidal dela Blache
(c) Jean Brunches (d) Huntington
(i) mﬁqﬁﬁﬁﬁmmﬁa—eﬂw% :
(3 afFA |
() Tk
(o Hfemen e
(7) dA
The world’s largest city according to population is :
(@) Tokyo
(b)) Mumbai
(c) Mexico City
(d) London
(jfi) T 2011 T SITUA] & TER WA T S ¥ R
(37) 328 = (&) 324 AR
(/) 325 AR 4y 382 A
According to the 2011 Cencus, populalion density of India is:
(a) 328 persons (b) 324 persons
(¢) 325 persons (@ 382 persons I
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(3]
(iv) T A A o T e 2
) T () T AW
Rawatbhata nuclear plant is located in which state?
(a) Gujarat (b) Utar Pradesh
(¢) Rzjasthan (dy Madhya Pradesh
(1) F=EA smoETEme e
(37) =rTs 3am £%) e-3eamE a0
(7) JE=am (z) =& sam
The following is the basic industry :
(a) Paperindustry (b) Iron and steel industry
(¢c) Jute industry (d) Textile industry

Fuz-( A ) f=m T & 9fd =i
Section-(B) Fill in the blanks :

[1x5=5]

() =G T A5 e vy A B
About ___ percent of the surface is uninhabited.

(ii) Wﬁimw“——ﬁ%@ﬁmm%@ 5 A\

~

New York city is located at the bank of TIVer.

(iir) g = B oW G- A€, TR

m%ﬁmﬁ%l

In the scattered seilicment, lhe houses are far away, there ate

areas in between iL.

—

3 /@:“i Z—/C,L

(v) ——-ﬂﬁimmnaﬁammﬁmm el
The valuable pearls are obtained from the ___ species fish.

(v) ——ﬁ@ﬁﬁuﬁmm%\

Aluminium is made by ___.

TSNS

gga-1 @oE~(¥H) =fam ddy AfET : [1%5=3]
(N (11
(i) M () | @
(ii) wTed 31 gad fermard Sl (2) mm@
e
(jif) et T (=) g O
(i) T Teee WqE T (2) wfamn @
(v) A B MEH (3) =l ®)
M-59 B P.T.(
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(4]
Section-(C) Match the column :

M (1)
(/) India (a) Sarguja
(if) India’s least sex ratio State (b) Uttar Pradesh
(iif) Administrative town (¢) Jhooming agriculture
(iv)i Sugarcane producing (d) Haryana
major state
(v) Coal depository (e) Delhi

frdsr . (W) W wEE 2 R 7 9% A e T 81 TS T W
) stF aTefed 1 (IWM F) rfirhan TR-HAT 30 IR 7)

Instruction : (C) Question Nos. 2 to 7 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

-2 TS’ Qa1 AIRE R ? 2]
What does the ‘city centre’ mean?

ugA-3 T S % ST giaey @ w@ifes a sl 2]
Draw the diagram of radial pattern of rural settlement.

ugA-4 TS W Smfd < FEr o A S [2]
Give the name of two industries based on animals.

UgR-5 ST WeTH ¥ AN R EEEa 2 2)
What do you understand by inter-state mi gration?

TvT-6  WEHR fRd wEa ¥ 7 2]
What is the metropolis?

-7 OUEg - e e Sam W NeH ¥ ? (2]
Which district of Chhattisgarh is the first in production of Kattha?

Fréor : (]) T HAE 8 A 14 qh eI W €| Wolh TEH W

3 aig ayrEfeg ¥ 1 (W T sifman w=E-HH 50 Vg /)

Instruction : (D) QuestionNos. 8 to 14 are very short answer type questions,
Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

WeH-8 ST SgER WHa sy s qRow fafea [3]

Write definition of human geography according to Jean Brunches.

M-59B
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fader

[6]

(a) Write the scale ol given diagram.
(b) Which year has the lowest population?

(¢) Name the given diagram.

Tftae wmA 1 e fafan) [3)
Write the importance of mcans of transportation.

SR T g H W fafae) (18 77) 3]
Write the differences between birth rate and death ratc. (any three)

2 swifa A 9Ra A T A A B 9E & §F HR fafen) 3]

Write three reasons duc to which the Green Revolution Scheme
cannot be implemented everywhere in India.

frafafaa afed % IFM e 9aiBT (3]
(a) Torema =&t (b) THI TR
(c) sma'a"'t?a?

Describe the origin of the following rivers :
(a) Shivnath river (6) Hasdo river

(¢) Indravati niver

arar 76t W feoeft fafau 3]

Write a note on Arpa River.

: (3) WHE w15 ¥ 17 % dYSTE T T T@E T W
4 3% amEfed ¥ | (SW & SAfuway y==-4im1 75 1= §)

Instruction : (E) Question Nos. 15 to 17 are short answer type questions.

q1-15

uv-16

Each question carries 4 marks. (Maximum word limit of
answer is 75 words)

VI ht @l et BT gU MY Hee =R aifis I e R L ? [4)
Indian coastline is long, but the trade of fish is not so advanced. Why?

371/ OR
"' <ite s famma it w9 ¥ 1) 59 e W e SR

“Iron ore js the mother of development.” Confirm the statement,

<R A TS e HI (TISCO) Wt F wr fafay | [4]

Write the reasons of localization of Tata Iron and Steel Company.

37eqr/ OR
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[7]
Tl S e & vt s 3 e fafag
Write the reasons of localization of Bhilaj Steel Plant.
W17 fava % =R wy@ siaveeii s & aui (4]

Describe the world’s four major intercontinental airways.
HIq1/OR

SH-TRAR W 1 gRafen w1 faa-Yan w6 Fed € 2 30 W Hif)

Why is the Trans-Siberian Railway called the Lifeline of Siberia?
Clarify it.

Fdsr : (%) WY HEF 18 J 20 7& HITT WA T 1 TIF TH |
5 3% Efed €1 (I Afuhad T=-THT 150 T= ¥)

Instruction : (F) Question Nos. 18 to 20 arc long answer type questions.
Each question carries 5 marks. (Maximum word limit of

answer is 150 words)
W9H-18 o1 X % 3yE faf@e) (+1¥ v9) [5]
Write the solution of forest conservation. (any five)

3rerar/ OR
T7e1 HeEw & 39 fafaw | (wE vi)

Write the solution of soil conservation. (any five)

q97-19 R ¥ dimreR aAtas 3 freifea s v S 15)
(a) &0 T Gl (b) ﬁmmqu\'é‘
(c) Yeftene it (d) TR
(c) T e

In outline map of India, show the following :
(a) The Gulf of Kulch (b) Vishakhapatnam Port
(¢) Pulicot Lake (d) Narmada River

(e) Aravali mountains
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[8]
TG ¥ HEer 7AfEs § fr=ifea o weiia wifew
(@) THI TR (b) TG HI AU
(¢) Ned (d) & 3ITRH 5
(e) SRR & U ITH
In outline map of Chhattisgarh, show the following :
(@) Hasdo River (b) Capital of Chhattisgarh
(¢) Bhoramdev (d) Diamond producing area
(¢) Kanger Ghati National Park

fare} ¥ e %1 Ui Frsifera Tl & SR 9 i

(a) Fram &= (b) O A
(c) %A (d) S
(e) =OEE

Describe Pigmy’s life on the basis of following titles :
(a) Residence area () Physical formation
(¢) Clothes (d) Food

(e) Business

arerr/ OR
Tqrd % Strae w1 B faeifwd el ¥ syR W Hifa ;
(a) fram &= (b) Wit T
(c) A (d) “ISA

(¢) <=4ad™g

Describe Masai’s lile on the basis of following titles :
(a) Residence area (b) Physical formation
(¢) Clothes (@) TFood

(e) Business

(]

TSP 5 Y
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